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1. % Ll
D—RFFE(L)

% A

5 g SHTEE SH2EE
FEHE | Bt FEE | #gak [dEnek
1.t B 8,127,056 29.7 8,307,316 30.5 2.2
2. vl = 5 B 252,300 0.9 271,185 1.0 75
3. # F o ooa oz & % 12,900 0.0 4,700 00 A 636
4 B = 2 % #+ % 14,000 0.1 15,200 0.1 8.6
MR EERS B XM S 15,900 0.1 7,000 00 A 560
6. A T %2 B X H £ - - 16,000 0.1 e
T K K OB OB X A £ 1,362,600 5.0 1,442,400 5.3 5.9
8.3 )L 7 B R B B X & 2 58,200 0.2 67,700 0.2 16.3
BB EHRBEMEDXNS 20,600 0.1 14,100 01 A316
10 EERUERERETIRNBRZ £ 592,238 2.2 579,238 21 A22
M 5 H @ % & £ 122,414 0.4 71,400 03 A 417
12. 5 3z 1+ B 5,187,000 18.9 5,229,000 19.2 0.8
BExBELZL2ATERENXTH £ 8,400 0.0 7,800 00 A71
144 B £ R U & # 2% 162,168 0.6 140,226 05 A 135
5.6 B B R U F #H 596,585 2.2 654,090 24 9.6
16. = % H & 4,900,964 17.9 4,744,960 174 A 32
17. 38 % H & 2,212,625 8.1 2,161,880 79  A23
18. &t 5 Iy A 27,903 0.1 22,015 01 A 211
19. %% B & 510 0.0 510 0.0 0.0
20. 42 A & 865,754 3.2 1,131,459 4.2 30.7
21. 42 i & 100,000 0.4 100,000 0.4 0.0
22. & Iz A 421,883 15 463,121 1.7 9.8
23. ™ & 2,284,100 8.3 1,764,700 6.5 A 227
OB B B R £ B X f# 2% 27,900 0.1 - - e
% A = B 27,374,000 100.0 27,216,000 100.0 A 06

% H

3 B SHITTEE SH2EE
FEHE | #Bhk FEmE | gRk | densEk
1. & = z 185,200 0.7 194,103 0.7 48
2. %% ¥ & 1,651,286 6.0 2,498,781 9.2 51.3
3. B o = 10,320,143 37.9 10,301,825 37.8 A 0.2
4. 1 o = 2,683,950 9.8 1,789,384 6.6 A 333
5 % 1] & 24233 01 17,785 0.1 A 26.6
6. B o 7K B ES & 583,448 2.1 418,765 15 A 282
7. 75 T Z 571,715 2.1 1,101,264 4.0 92.6
8. = N & 3,079,222 11.2 2,939,221 10.8 A 45
9. H 3] & 176,150 0.6 205,247 0.8 16.5
10. % B & 1,895,749 6.9 1,600,046 59 A 156
1. % = 0] |5 & 2 0.0 2 0.0 0.0
12. & & 2,332,002 8.5 2,358,624 8.7 1.1
13. B = & 3,865,900 141 3,785,953 13.9 A 2.1
14. % 1% % 5,000 0.0 5,000 00 00
% H = B 27,374,000 100.0 27,216,000 100.0 A 06
(B RS B R BGE (Bfz:FF. %)
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2)EN=EHFE(E)

OEERERR
% B SHTEE SH2EE

yEE | #Hk FE%E | #Hk | EER

1. BE & B R’ B B 1,098,450 16.4 1,138,214 168 36
2. & % H & 4,926,582 73.8 4,962,364 73.1 0.7
3. 42 A & 643,303 9.6 674,544 9.9 49
4 18 723 & 10 0.0 1 00 A 900
= ijg A 12,225 0.2 12,309 0.2 0.7
% A & 6,680,570  100.0 6,787,432  100.0 16
1. 4 # % 142,515 2.1 155,827 23 93
2. % B B B 4,851,508 72.6 4,863,881 71.7 03
CERBREERBRELEML S 1,608,158 24.1 1,655,970 24.4 3.0
4% B T X B oK % 2 0.0 2 00 00
M B R ELLE S B E S - - 6 00 oy
6. =/ % % 72,071 1.1 69,906 10  A30
7. & % H & 6,306 0.1 7.830 0.1 24.2
2 & % - - 34,000 05 Ho i
¥ 1% % 10 0.0 10 00 00
5 H & 6,680,670  100.0 6,787,432  100.0 16

(BRD BT B =BG

(BA:FH. %)

O HEMEER
BB SHITEE SR

FEE | #E FE%E | #Hk | WEiEk
Y s B EERRBAM 743,941 75.2 763,132 73.9 26
2. 4% A & 242 465 245 266,464 25.8 9.9
3. 18 A & 1,100 0.1 1,100 0.1 0.0
4. % i A 1,701 0.2 1,701 0.2 00
% A & =t 989,207  100.0 1,032,397 1000 44
1.4 % & 51,061 5.2 55,027 53 78
2 B EBEERLEEAMLS 936,346 94.6 975,570 945 4.2
3. %% 53 H & 1,700 0.2 1,700 0.2 00
4. % 1% % 100 0.0 100 00 0.0
% H & 989,207  100.0 1,032,397 1000 44
(ERL) K75 2R B 75 = A B R (BA7:FM. %)
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5 g SHITTEE SH2EE
>EmE | #u >amE | Bk | genEk
TN #Z B B W 1,008,679 20.9 1,006,008 20.1 A 03
2 s H 4 1,064,081 220 1,103,665 22.0 37
3 & % H & 685,186 14.2 707,726 141 33
4. % H x 4 & 1,216,523 252 1,268,042 25.4 4.2
5. Bt E e A 683 00 706 0.0 34
6. & A & 854,469 17.7 923,149 18.4 8.0
7 4@ # & 1 0.0 1 0.0 0.0
8 % i A 50 0.0 50 0.0 0.0
5 A & 4829672 1000 5009.347 1000 37
1.4 % & 171,292 35 160,081 32 A 65
2. B O & B 4,280,425 88.7 4,425 442 88.4 34
3y B X B OE % OB 375,821 78 421,667 8.4 12.2
LE & B O OI % 683 0.0 706 0.0 34
5 % % & 1,351 00 1,351 00 0.0
6. % 1 - 100 0.0 100 00 0.0
5 H 2 4829672 1000 5009.347 100.0 37
(B AR SR R (Bfr : TH. %)
@i REEEEY
5 g SHITTEE SH2EE
>Eam | BB >amE | Bk | sinEk
1. BE X H % 81,600 283 64.200 272 A 213
0. 18 A & 75,870 26.3 59,372 251 A 217
3.7 & 130,700 454 112,700 477 A 138
% A & 288.170 1000 236.272 1000 A 180
1+ #h K B % 18 =5 % & 244249 848 181548 768 A 257
VI = = 43,921 152 54724 232 246
% H & 288.170 1000 236.272 1000 A 180
(B B SR BEE (B - TH. %)
@A EL
& g ST S ST E
T E% | Bk TEHE | #ik | 8EElk
1.4 A % 56,784 1000 36.717 1000 A 35.3
% A & 56,784 1000 36.717 1000 A 353
T & £ 56,784 1000 36.717 1000 A 35.3
% H & 56,784 1000 36.717 1000 A 353

(BH) HBBIMBEMBER
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OEXREEYINEEE

5 g SHTEE SH2EE
¥ Eam | Bkt Fam | Bt | dErek
L B H B O F % # 82, 811 17.8 216, 901 85. 6 S8 128
2. & % H & 123 0.0 58 0.0 A 528
3. Bt E i A 127 0.0 135 0.1 6.3
4 4% A & 618 0.1 63 0.0 A 898
5. % i) A 35, 416 7.6 34, 337 135 A 3.0
6. % 346,600  74.5 2,000 0.8 A 99.4
% A & 465,695  100.0 253 494  100.0 A 456
1. & ¥ W B T % B 419, 290 90.0 175, 942 69.4 A 580
2. f& - 46, 405 10.0 77, 552 30. 6 67.1
% H & 465,695  100.0 253 494  100.0 A 456
(BE) BEHBEE R (Bf7 . TH. %)
OEFE=E:
5 g SHTEE SH2ERE
¥ am | Bkt ¥ EE | Bk | deek
L B H B O F % # 37, 486 46. 4 38 786 63. 3 3.5
2. Bt E i A 123 0.2 126 0.2 2.4
3 i A & 42,114 52.2 22 381 36.5 A 46.9
O =% i A 1,000 1.2 0 0.0 B
% & 80,723  100.0 61,293  100.0 A 24 1
1. = = = & 78. 396 971 59 598 97.2 A 24.0
2. A % = 2 327 2.9 1,695 28 A 27.2
% H & 80,723  100.0 61293  100.0 A 24 1
(BH) MRIEERB =R R (Bf7: TH. %)
[(Yad r &3
2 g SHITEE SHERE
¥ a5 | Bk ¥ E 5 | Bk [ daEk
L B ® B O F % % 49, 400 97 4 50, 000 97 4 1.2
2. 1% A & 1,321 2.6 1,319 26 A 0.2
B & 50, 721 100. 0 51319 1000 1.2
1.8 = 1 = % & 43, 058 84.9 43 664 85. 1 1.4
2. A 1 % 7,663 15. 1 7. 655 14.9 A 0.1
H 50, 721 100.0 51319 1000 1.2
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3) KEEXRHTE (44D

@ [N AFHI U X (BiA)
5 g SHTEE SH2ERE
FEHE | Bk FEE | #hk | fEEk
1. = ES I #* 1, 648, 565 96. 0 1,631, 109 95.9 AT
- N 68, 884 4.0 70, 166 4.1 1.9
Iz & =t 1,717,449 100.0 1,701, 275 100. 0 A 0.9
1 & S =] 1,487,512 97.3 1,481,929 97.6 A 0.4
2B % £ B 38, 223 2.5 33,208 2.2 A 13,1
3 4 31 ] % 1,000 0.1 1,000 0.1 0.0
4 F & % 2, 000 0.1 2, 000 0.1 0.0
% t & =t 1,628,735  100.0 1,518,137 100. 0 A 0.7
(BEfz : FHE. %)
@ EARNINE (BiA)
n g SHTEE SH2EE
FEE | Bk ¥ Ea s | #mt | genEn
S ES & 140, 000 89.0 147,000 91. 4 5.0
2. H & & 13,900 8.8 13,900 8.6 0.0
3 & 1 & 3,335 2.1 0 0.0 B
4 18 & - - - - -
Iz A & = 157,235  100.0 160, 900 100. 0 2.3
L2 % % B = 508, 559 76.7 605, 071 79. 1 19.0
2 % @& @B B £ 162, 477 23.0 157, 557 20. 6 3.3
3 F 1 % 2, 000 0.3 2, 000 0.3 0.0
% H & =t 663,036 100.0 764, 628 100. 0 15. 3
(B KERREEER (BEfz : FA. %)
4) TREEXLKHTE (49D
@ [N AFHI U X (BiA)
5 g SHTEE SR
FEE | #an FEE | #gar | SunEn
1 & ES % % 1,798, 650 58.5 1,776, 702 62. 1 A2
208 ¥ 8 W % 1, 066, 382 41.5 1,084, 792 37.9 1.7
3 % 31 I % 10 0.0 10 0.0 0.0
Iy & =t 2,865,042  100.0 2,861, 504 100. 0 A 0.1
1. = ES & =) 2, 457, 388 92.6 2, 415, 362 92.0 AT
2% % 4 7 B 186, 695 7.3 208, 275 7.9 11.6
3 4 31 # % 1,010 0.0 1,010 0.0 0.0
4 % 1% %= 2, 000 0.1 2, 000 0.1 0.0
% o B =t 2,647,093  100.0 2, 626, 647 100. 0 A 0.8
(Bf - FE. %)
@ EAHINZ (BiA)
2 5 DHTERE BHIEEE
¥ EE | Bk FEHE | #me | oHEn
S ¥ & 980, 000 63.6 995, 200 62. 1 16
2. % B & 497, 680 27. 1 493, 700 30.8 A 0.8
3 & i H OB O£ 111, 302 9.0 109, 986 6.9 A2
4 & 1 & 7,432 0.1 711 0.0 A 904
5. 4 1 & 2,314 0.2 2,385 0.1 31
6.k 1t & F %A 320 0.0 280 0.0 A 12,5
7. % 1% & - - - - -
I A . = 1,599,048 100.0 1,602, 262 100. 0 0.2
T2 & ©w B E 1,524, 932 53. 3 1,548,015 61. 4 15
2 f % & B & % 990, 706 46. 6 968, 927 38.5 A 2.2
3Kk % bt & &4 = £ B 320 0.0 280 0.0 A 12,5
4 & i & 110 0.0 110 0.0 0.0
5. % 1% % 2, 000 0.1 2, 000 0.1 0.0
% tH . =t 2,518,068 100.0 2,519, 332 100. 0 0.1

EE) KErE e A

EIHE =N
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2. R g
D—BESHRE
=% A
. FRR29ERE ERI0ERE
e | #ek e | Bt
1.1 5] 8,045,267 29.2 8,020,361 29.1
2. #b Vil = 5 ) 257,405 0.9 259,931 0.9
3. F| + 2 x fF & 13,770 0.0 11,314 0.0
4. B2 E =2 R £+ & 19,574 0.1 15,261 0.1
SRR X EZEFMSE I XMFE 19,803 0.1 13,1956 0.1
6. H B B ® X [ £ 1,306,994 4.7 1,328,278 4.8
7.3 00 7 &/ R A X+ & 67,826 0.2 64,246 0.2
8. B & H B B B X f % 63,356 0.2 57,137 0.2
9. EHIZ MBS AR R BB A6 579,155 2.1 626,521 23
10. b Vil e el BN fF & 50,537 0.2 58,260 0.2
11. th yil B fF T 5,389,055 19.6 5,028,897 18.2
NXBEBLZe2XRE N MGFT£ 9,772 0.0 9,104 0.0
3.0 #H € kR U & #H % 182,817 0.7 194,028 0.7
4. A $H kR Ut F #H H 569,382 2.1 571,159 2.1
15. B % H & 4,975,507 18.0 4,749,212 17.2
16. & b-d H & 1,934,563 7.0 1,978,907 7.2
17. Bf E )7} A 98,139 0.4 138,189 0.5
18. & oy & 216,884 0.8 342,600 1.2
19. #& A & 678,392 2.5 1,118,693 41
20. #& i & 691,329 2.5 536,399 1.9
21. & N A 405,467 1.5 327,940 1.2
22. = 1,983,332 7.2 2,155,547 7.8
= A = g 27,558,326 100.0 27,605,179 100.0
% H
2B ER2EE TR30EE
hEmE | #uk cEE | Bet
1. & = & 182,214 0.7 180,008 0.7
2. %5 % = 2,017,548 7.6 2244841 8.4
3. B et & 9,319,250 349 9,282,612 34.7
4. & & & 2,920,638 10.9 2854515 10.7
5 % & = 18,959 0.1 17,675 0.1
6. 2 K 7K )3 E = 513,853 1.9 432,823 1.6
7. ™ T & 558,416 2.1 547,879 20
8. X = 2,847,035 10.7 2,823,341 10.5
9.8 93] = 259,406 1.0 299,430 1.1
10. 5 = 1,826,082 6.8 1,906,155 7.1
11, % = % IH =y - 0.0 75,078 0.3
12. & = 2,287,552 8.6 2,280,882 8.5
13. B g8 = 3,909,983 14.7 3,822,832 14.3
14. % % % - - - -
= H = g 26,660,836 100.0 26,768,071 _100_0
TER) W e B = ol Ik (BEhz:TH. %)



2)RPLEHRE
OEERERR
B g LR 295 & TR 305 &
s EE | #Hn cEE | g

1. R & B & KB B 1,221,101 155 1,165,589 179
2 B % H & 1,586,154 20.1 - -
3E B K N B X N & 137,222 1.7 - -
LET BB B OE XN S 2313818 29.4 - -
5 & % H & 409,106 5.2 4594 351 70.5
6. B F X X A % 1,591,840 20.2 - -
7. #& A & 604,296 1.7 642,600 99
8. 18 oA % - - - -
9. % g A 18,344 0.2 13,529 0.2
10. T & - - 100,000 15
x A =) B 7,881,881 100.0 6,516,069 100.0
1. 88 7% & 158,842 2.0 154,196 2.3
2. 1% i e} £F & 4.818,455 594 4492392 67.2
CEEREERELEMLS - - 1,640,383 245
b1t B B B E X E S % 733,682 9.0 - -
551 Bl & B EF M N & F 2,736 0.0 - -
6.2 AN 2 B W H % 16 00 - -
7.9 #E t % 250,233 3.1 - -
8. A =T ¥ W H 4 1,682,331 20.7 1 00
9. & f# = * & 57,5607 0.7 59,559 0.9
10. 2 * H o 78,983 1.0 109,970 16
1. % 1 % - - - -
B OF£ E & £ T A & 331,713 41 232,618 3.5
% H = 5 8,114,498 100.0 6,689,119 100.0
(BR) K75 2R 75 =B ER (Eh7:FH. %)

Ok EbEER

BB SRR 294 R0 &
s EE | #Hk cEE | BRk

TR EmEEERERRBRHE 679,088 76.1 702,430 75.1
2. E % H & 120 0.0 1,803 0.2
3.4 A & 212,674 23.8 227,149 24.3
4. #& i & 136 0.0 3,077 0.3
5 5 g A 1,252 0.1 548 0.1
% A & 2t 893,270 100.0 935,007 100.0
1. %8 % E=y 40,187 45 40,352 4.4
2. Y EmEERLAEESMHASE 848,912 954 878,739 955
3. % % H & 1,094 0.1 548 0.1
4. % 1 % - - - -
i & 3 890,193 100.0 919,639 100.0

(BRD B EHUB= G
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X 294 SE R0
S Em | #Ekt R B | EBRk
1. * Z3 53 l 984, 340 22.5 1, 004, 690 22.2
2. == b-d H & 960, 883 21.9 991, 660 21.9
3. & H & h6b, 015 12.9 591, 180 13.0
4 % H E T O & 1, 048, 807 24.0 1,041, 457 23.0
5 Bf v A 81 0.0 114 0.0
6. #E A & 654, 245 14.9 676, 440 14.9
7. ¢ 21 & 167, 450 3.8 227,572 5.0
8. & v A 448 0.0 429 0.0
= A = 5 4, 381, 269 100.0 4,533, 42 100. 0
1. #& b £y 155, 943 3.8 154, 218 3.5
2. £ 153 el £+ £y 3, 615, 717 87.0 3, 635, 488 82. 8
30 B X B T X B 210, 790 5.1 374, 864 8.5
4, EH & & hva & 153, 465 3.7 146, 516 3.3
5 ## % & 17, 783 0.4 82,115 1.9
6. F % % - - - -
G H = £ 4,153, 698 100.0 4,393, 201 100. 0
(B HAFEER AT = B B (Eh7: 7M. %)
Q@K EREEY
X 5 294 & SE R0
S Em | #Bk B | ERk
1. J==1 % H & 155, 208 50. 2 b5, bh4 38. 1
2. 1% A & 34, 495 11.2 39, 424 27.0
3. #E 21 & 2, b1b 0.8 1, 566 1.1
4. = 116, 900 37.8 49, 400 33. 8
= A = 5 309, 118 100.0 145, 944 100. 0
& XK || B 1B 5 £ &8 291, 275 94.7 113, 444 80. 8
2. N = = 16, 277 5.3 27, 004 19.2
= H = g 307, 652 100.0 140, 448 100. 0
(BH) BBmM A= IR (Bf7 - TH. %)
@IS EE
5 5 R0 SE RS0
R Em | Bk B | HERk
1. #& A & 57,020 100.0 56, 902 100. 0
= A = g 57,020 100.0 56, 902 100. 0
1. 28 = = 57,020 100.0 56, 902 100. 0
53 5 57,020 100.0 b6, 902 100.0

H =
(B 75 Rl 75 2= i B ek
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OEXREEYIEEE

5 5 29 ER30EE
e | #Ek cEdE | Bk
1.5 A B k& U F #H #H 78,118 13.0 73,733 14.7
2 & % H & 139 0.0 117 0.0
3. Bf E i) A 23 0.0 28 0.0
4 % A & 263 0.0 19,473 3.9
5. % Iy A 22,643 3.8 373,500 74.4
6. M & 501,000 83.2 34,957 7.0
% A =) z 602,186 100.0 501,808 100.0
1. E ¥ N 1B F X # 570,836 94.8 466,599 93.0
2. N & & 31,350 52 35,209 7.0
I H = 5 602,186 100.0 501,808 100.0
(BE) BEHEE MR (Bf7 : T, %)
(3
5 5 RO LR 30EE
e | #Ek cEd | Bk
1.6 A B B & F & ¥ 7,548 22 19,165 12.2
2 Bt E i) A 29 0.0 28 0.0
3. #& A & 16,659 49 32,491 20.7
4. % Iy A - - 500 0.3
5. 1 & 314,700 929 105,200 66.8
I A =) z 338,936 100.0 157,384 100.0
1. 2 = 3 E=y 338,936 100.0 156,332 99.3
2. N & & - - 1,052 0.7
= H & g 338,936 100.0 157,384 100.0
(BH) MRIEERE =R E (B TH, %)
[ JadR e
- 5 E 29 ER30EE
SR E %8 | #mk SRE %8 | #Bak
1.5 B # kX v F # ¥ 49,306 91.1 48,961 974
2. %% A & 4,831 8.9 1,321 26
B A & 54,137 100.0 50,282 100.0
1. B =) 5 = S & 25,466 470 34,254 68.2
2. 1 - 28,671 53.0 15,973 318
4 H é_ g 54,137 100.0 50,227 100.0
(BF) FaTS Rl 7% 2= B I (B - TH. %)
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3) mMAEME

(BREERBE)

B > = BMEES [HEICL2HER
F K T # (m) 2 Hm (m) B #EEFR | & £(FMD () ()
SERR264F 4,412, 624. 46 255, 856. 47 93, 482 4,729, 387 386, 100 1, 803, 840
27 4, 558, 846. 17 259, 630. 23 83, 497 3, 846, 780 386, 100 1, 803, 840
28 4,634, 731. 07 258, 909. 02 77,187 4,513,471 386, 100 1,739, 539
29 4,661, 050. 16 255, 428. 57 71,760 4,700, 655 386, 100 1,739, 539
30 4,729, 191. 61 254, 169. 09 66, 380 4,789, 467 386, 100 1, 739, 539

(B HRBHMBEERM - MR
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4) KEBERFRE

@ U AEHIIN (BiiA)
5 g 295 & TR0 EE
s2EE | Bk ShE A Btk | waiak
1.8 %x g % 1567718 96.7 1,579,175 94.6 0.7
2.5 * 4% g i® 96,161 3.3 90,098 54 A 6.3
3. 5 Bl F) i® 1,267 - 172 0.0 A 86.4
g & st 1,665,146 100.0 1,669,445 100.0 0.3
1.5 ES & hi! 1,482,246 9238 1,465,824 97.0 A 1.1
2.8 kS 4% =y A 42515 2.7 45324 3.0 6.6
3. Bl 8 % 1,718 46 386 0.0 A T75
3 H = B 1,526,479 100.0 1511534 100.0 A 10
(Efz : TH. %)
@B AN (BiiA)
5 g 205 & TRA0FE
REE | Bk B % etk | waiak
1. & ES = 150,000 54.9038 150,000 89.2 0.0
2. H & & 23500 47217 15,900 9.5 A 323
3. & 8 & 7,431 404 2,300 14 A 69.0
4 A & B 180,931 100.0 168,200 100.0 A 70
1. & % 5, B E=¢ 545555 80.0 456,244 73.6 A 16.4
2. X B B E % 158,166 20.0 163,655 26.4 35
* H & B 703,721 100.0 619,899 100.0 A 119
(BR) KEHREE R (20 : TH. %)
5) T/KEEELFHRE
@ U AEHIIN (BiiA)
5 g 20 & TR A0EE
cEE | Bk SR EE Bt | sl
1.8 E X = 1,689,127 57.1 1,719,570 60.0 1.8
2.8 E 4% g % 1,207,559 429 1,147,681 40.0 A b0
3 & bl F Ay 7 0.0 856 0.0 12,128.6
X & it 2,896,693 100.0 2,868,107 100.0 A 10
1.8 * -y A 2423827 90.6 2,468,941 928 19
2. = ES a4 =y A 235,338 94 192,745 7.2 A 18.1
3. % Bl il % 296 0.0 152 0.0 A 48.6
* H = it 2,659,461 100.0 2,661,838 100.0 0.1
(B TH. %)
([ N0 (BiA)
2 5 TROEE FRI0EE
REE | ERL R B Bk | SEiER
1. & ES & 340,100 57.2 687,700 62.1 102.2
2. 14 Bh & 83,890 279 297,155 26.8 254.2
3.t = B H & & 129,920 144 117,170 10.6 A 9.8
4. 8 #H & 259 0.1 1,751 0.2 576.1
5 4 #H & 3,699 0.4 1,648 0.1 A 542
6T = & #®/ % - - - - -
7.k %k i B f+ F % N A 162 0.0 102 0.0 A 37.0
8. 4 1% & - - - - -
9. & 53 & - - 1,777 0.2 i
X A & it 557,930 100.0 1,107,303 100.0 98.5
1. 8 Bid 5. B z 420,654 424 990,310 48.3 135.5
2. 1 ES & & = & 1,122,763 57.6 1,069,542 51.7 A b6
3Kk H kB & F X B 162 0.0 102 0.0 A 37.0
4 3R = & 415 0.0 0 0.0 iR
* H i 1,543,894 100.0 2,049,954 100.0 32.8

PAN
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3.7 W &

1) zlch - EF S ABEEH
(REER)
- BA (#) EAN B () &% ()
MmN GIEA A st

E 265 3 2 6 1 8, 844, 372
27 26 12 27 3 325, 643, 075

28 7 6, 920 12 ) 107, 113, 322

29 13 16, 018 11 4 216, 224,122

30 9 26,189 " 6 341, 230, 800

(BH) MBHVMBEMER CEIREIBLER
E) FHBFELY 52 S MBI 5 RILAFREERRA

2) FtEDER

CER304FEEH)
F & DR g () &% (M)
1w 26, 215 341, 230, 800
FECXEFE(FECESET) 4, 851 64, 487, 800
KEREEDEL I YEE(FL I Y HERSHET) 893 11, 988, 000
FOE - UEIRBEEE (FOF - UEIREESTET) 206 2, 870, 000
BEEREAPEHTAEE BEERSEALEKLESHT) 472 6, 666, 000
AR—VIRBIEE (R R—VIRBESRET) 342 4, 878, 000
HABUHEETE HEBUEEHERSTET) 781 10, 522, 000
BERBEE (BEREESET) 1,510 19, 477, 000
HEEDFLLOFERBELEZ DFMH 2 80, 000
mRICBENY 17,158 220, 262, 000
(B¥) BHEDHMBEEYMHE SERBEDAEHE
3) FELOHEETBHERZ DFH
(BEEH)
- BA () EA R () S (FD)
bl mst hil%) mst

35,264 1 - 6 - 1, 040, 000

27 1 - 5 - 540, 000

28 1 - 9 - 1, 400, 000

29 1 - 8 - 660, 000

30 1 1 10 - 1, 349, 400

(BH) MHIMBEMEER
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